3aagaHusa ansa 6 B knacca Ha 27.09.2021
Buonorus:

Tema: «CTpoeHne pacTuTenbHOM KNeTkny» (TeMy nucatb 06s13aTenbHO)

1. lNpouyntante naparpad 3.

2. BcnomHute onpegenerue KIETKA
3. 4Tto Takoe opraHona?

4. 3anonHute Tabnuuy

HasBaHue opraHonga Onucanune PyHKUMN

Kneto4yHaga cTeHka

LinTonnasmaTtunyeckas
MembpaHa

Appo

Mnactnabl:
A) xnoponnacTbl

B)xpomonnacTsl

B) nenkonnactbl

Bakyorb

5. YKaXuTe OCHOBHbIE OTNINYMTESNbHbIE MPU3HAKN PACTUTENBbHOW KIETKM.
dn.novyta: tarasenkoo.p.73@mail.ru
Pycckunm A3bIK:
M.17, 18, ynp. 83, 85, 87
An.agpec: natasha_borisenko_77@mail.ru
AHIMNNCKNN A3bIK:
3aBbsnoBa E.B.:

1) ynp. 3, 4 c. 26 — npoynTaTb YCTHO, yNp. 5 €. 28 — NUCbMEHHO

2. Choose the correct word.

Fmove = the deepest « bigger » older « the highest J

1. The territory of Russia is than the territory of
Scotland.

2. There are people in Glasgow than in Edinburgh.

3. Edinburgh is than Glasgow.

4. Loch Ness is lake in Scotland.

5. Ben Nevis is mountain in Great Britain.

3. Group the words into 3 themes.

the Clyde = Aberdeen « the Grampians = Loch Lomond =« Edinburgh
= Ben Nevis » the Tweed = Glasgow = the Highlands

1. Cities/towns:
2. Rivers/lakes:
3. Mountains:
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dn. noyTta: english.zev@yandex.ru

BuHokypoBa O.B.:
Ynp. 7, ctp. 20 (NMMCbMEHHO C NEPeBOAOM)
BbinucaTtb B cnoBapb CroBa 13 pamMku 1 CnoBa, BblAeNeHHble MENKUM LPUGTOM.

In. noyta: gmceschool@mail.ru

MaTtemaTtuka:

MpocmoTpeTb Buaeoypok https://resh.edu.ru/subject/lesson/702/ , BbINONHUTb KAPTOYKY
OT yunTens Ha nnaTgopme yun.py

duskynbTypa:
Ponb 1 3HayeHne 3aHATUI (prnsndeckon KynbTypon B POpMUPOBAHNN JINHHOCTN.

An.agpec: alexander.kutyreff@yandex.ru
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